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Advances in Computer Networks

Note: 1. Answer any FI VE full questions.

2. Missing data, if any, may be suitably assumed.

 List and explain the requirements that influence the network design.
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Expfzigl;how the network performance 13 measured. s
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Explain how:bridges use spanning tree algorithm to handle loops..Give an example
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‘ﬂgnsidcr a point—to—point link 2 KM in length. At what bandwidth would pr@%tion delay
'é/aﬁa_&spfeed of 2 x 10%/sec) equal transmit delay for 100 byte packets? . (06 Marks)

(05 Marks)

Explain the @Characteristics of following approaches tQ____f&i'w%aﬁxrd packets from a switch.

1) Datagrams it) Virtual circuit switching.

.....

For the network giveh%xifb
i) Each node knows only
i) Each node has reported

immediate neighbours.

tances to its immegKate neighbors

i) stép i) happens a second time.

h

A Fig. Q3(a).
What are the general oharacteristics of mobile [P technalogy?
What are the weaknésses of the mobile IP scheme? -

et P

Briefly exp\lzfﬁaﬁbut different “TCP congestion control” meéhéhims.
Explain el “the following queuing disciplines : 1) FIFO ii) Fair queuing .

Whatm‘e the different characteristics of HTTP? ",

Explain the following 1) DNS i) SMTP.

algorithm.
Briefly explain about the BGP characteristics.

Briefly explain about the congestion avoidance mechanisms.
With a neat packet header format, explain the working of IPV6.
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Explain three-way handshake algorithm used by TCP to establish and terminate ¢

(10 Marks)
low Fig. Q3(a). Find the gigbal distance vector tables, when :

&information the mformation it had in the preceding step to its
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¥ (13 Marks)

" With neat time line diagram. Explain the four different scenarios for the stop k}a)n -wait
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